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NEW QUESTION 1
How many cycles are in 10Hz?

N = O
o

cowz>
o

Answer: C

NEW QUESTION 2
Which of the following is the primary benefit of using wall-mounted racks and cabinets in place of traditional equipment racks?

A. Provides equipment with a higher level of protection
B. Allows for the equipment to be easily rearranged

C. Optimizes airflow within the equipment room

D. Takes up less space within the equipment room

Answer: D

NEW QUESTION 3
Which of the following makes the biggest impression on a customer when you are communicating via email?

A. Choice of words
B. Body language
C. Tone of voice

Answer: A

NEW QUESTION 4
Volts are measurement of ?

A. Light reflection

B. Electrical pressure

C. Electromagnetic radiation
D. Sound waves

Answer: B

NEW QUESTION 5
Which of the following types of cable produces very little smoke when burned?

A.CM

B. CMG
C.CMUC
D. LSZH

Answer: D

NEW QUESTION 6

Which of the following is used to express system gain and loss?
A. Ohms

B. Henries

C. Farads

D. Decibel (dB)

Answer: D

NEW QUESTION 7

Which of the following is designed to provide protection from harmful chemicals?
A. Cut-resistant gloves

B. Rubber gloves

C. Leather gloves

Answer: B

NEW QUESTION 8

During the troubleshooting phase, what is the first step?

A. Verify
B. Isolate
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C. Repair
D. Test

Answer: A

NEW QUESTION 9
Which of the following quantifies the bandwidth of a cabling system in a frequency range of interest?

A. Megabits

B. Volt-amperes
C. Megahertz

D. Kilowatt hours

Answer: C

NEW QUESTION 10
Which of the following is used to connect cabinets to the nearest SBB?

A. RBB
B. TBB
C. TEBC
D. BBC

Answer: C

NEW QUESTION 10
What is the recommended thickness for plywood that will be mounted on the walls of a telecommunications room?

A.12.7 mm (1/2")
B. 19 mm (3/4")
C. 25 mm (1)

D. 32 mm (1-1/4")

Answer: B

NEW QUESTION 11
What is the minimum inside bend radius for balanced twisted pair (multi-pair) cable?

A. 25 mm (1)

B. 50 mm (2")

C. 6 times the outside cable diameter
D. 10 times the outside cable diameter

Answer: D

NEW QUESTION 12
Which of the following fire ratings refers to the time period that a fire-rated assembly can resist flame passage?

A. L rating
B. F rating
C. W rating
D. T rating

Answer: B

NEW QUESTION 13

Which of the following is used to establish a 0 volt (V) reference for ac electrical power systems?
A. Alternating current (AC) grounding electrode system

B. Telecommunication bonding infrastructure

C. Equipment grounding system

Answer: A

NEW QUESTION 18

Which pair of a 100-ohm balanced twisted pair patch cable has a white-brown tip and a brown-white ring?
A. Pair 1

B. Pair 2

C. Pair 3

D. Pair 4

Answer: D
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NEW QUESTION 23
Which phase of testing includes documenting the test results?

A. Phase 1
B. Phase 2
C. Phase 3

Answer: C

NEW QUESTION 27
Which of the following is a building-serving space that houses large pieces of common active equipment?

A. TR

B. ER

C.TE

D. Mechanical Room
E. Battery room

Answer: B

NEW QUESTION 28
What is the required physical topology for a SCS?

A. Star
B. Bus
C. Ring
D. Tree

Answer: A

NEW QUESTION 33
Which type of cabling is installed between a main cross connect and a horizontal cross connect?

A. Second-level backbone
B. First-level backbone
C. Horizontal

Answer: B

NEW QUESTION 36
Light pulses in optical fiber cables are subjected to a loss in power as the light pulses travel along the optical fiber. Which of the following terms is used to describe
this phenomenon?

A. Attenuation
B. Grounding
C. Crosstalk

D. Frequency

Answer: A

NEW QUESTION 41
The information transmitted by an ICT system can originate in two fundamental forms:

A. Synchronous and asynchronous
B. Light and sound

C. Progressive and regressive

D. Analog and digital

Answer: D

NEW QUESTION 45

Which of the following is used to measure the length of a 4-pair cable?
A. Time domain reflectometer (TDR)

B. Pair scanner

C. Cable-end locator kit

D. Tone generator

Answer: A

NEW QUESTION 49

Unqualified workers must stay AT LEAST from exposed energized conductors operating at 300 to 50,000 V.

A.0.3m (1)
B.3m (10)
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C. 15 m (50"
D. 30 m (100"

Answer: B

NEW QUESTION 54
What is the primary purpose of the telecommunications bonding infrastructure?

A. Equalize potentials between metallic surfaces and equipment within entrance facilities
B. Improve the performance of the installed telecommunications equipment
C. Provide backup power to the telecommunications equipment when primary power to the equipment fails.

Answer: A

NEW QUESTION 58
Which of the following results from the different optical path lengths in a multimode fiber?

A. Modal dispersion
B. Chromatic dispersion
C. Attenuation

Answer: A

NEW QUESTION 63
What type of coaxial cable is used for video backbone distribution?

A. Series 6
B. Series 11
C.RG 59
D. RG 58

Answer: B

NEW QUESTION 65
What grade of plywood is recommended for use with ICT systems?

A. AIC
B. A/D
C.C/D
D. B/C

Answer: A

NEW QUESTION 67

Which topology uses a linear configuration that places all network devices on one length of cable?

A. Star

B. Ring

C. Bus

Answer: C

NEW QUESTION 72

Which of the following should be used to install plywood in a telecommunications room if the edge of the board does NOT align with the wall studs?
A. Toggle bolts

B. Metal nails

C. Galvanized screws

Answer: A

NEW QUESTION 75

Which of the Two organizations jointly oversee the worldwide standardization of telecommunications cabling?

A. Alliance for Telecommunications Industry Solutions (ATIS) and Society for Cable Telecommunications Engineers (SCTE)
B. National Electrical Contractors Association (NECA) and National Fire Protection Association (NFPA)

C. Comite Europeen de Normalisation Electrotechnique (CENELEC) and Electronic Industries Association (EIA)

D. International Organization for Standardization (ISO) and International Electrotechnical Commission (IEC)

Answer: D

NEW QUESTION 78
How long does it take someone to form a first impression?
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A. 10 to 15 seconds

B. 1 to 2 minutes

C. 5to 10 minutes

D. 30 minutes to 1 hour

Answer: A

NEW QUESTION 80
Which of the following may provide a demarcation point between the service provider and the customer premises cabling?

A. Telecommunications room

B. Work area

C. Telecommunications enclosure
D. Entrance facility

Answer: D

NEW QUESTION 85
A third 90-degree bend may be permitted in a conduit run if the run does NOT exceed ?

A.5m (16.5"
B. 10 m (33)
C. 15 m (50
D. 30 m (100"

Answer: B

NEW QUESTION 90

How much sheath of the cable needs to be removed in order to properly terminate an 8P8C?
A. 6.3mm (0.25")

B. 12.7mm (0.5")

C. 25mm (1")

D. 38 mm (1.5")

Answer: B

NEW QUESTION 92
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